1. ¥%4
54 AN 3AEFEAEGN - 2= ) ] TR 27
BT AT S HEAT B Y

FFEI - KBS ERE N

2. EBAR

1) EEFEH S34E 44 7) i TR R I
2) FHEAT4  HEWIFESET BHEE G 8) #HiX A X
3) ¥¥FES  21873650020001 9) Il - &R
4) BHXy EE (BEE2ED) OOFF 10) %FHEH AFN3E2 A
5) B®EE 0 [ 11) B8 —FEER 0%
6) EITHRM  730HR H 34 4H 1H 1 2) HffwEHaEA 32 H
(44)) *  SF54 3HA31H 13) AH#EAHEA 342 A
(% H&EE) B S 4F H O H 14) AiREA¥SE M
15) AIRKIEE M

el

AREBIL, LOYINACROFEE X FSMXH ([ A4 E s X H)
D 5 B THIERIEEFTAETE 20 1 Kk, {71 1 & OSAf) 1|
R A, ISR DK « M5 L5 KERAEOY I, E
2R, R DIE R 7R BERE DHERE l OV BREZ DA & frE2 X 5
728, FTE DN, 7)1 1 K ONAn) | B2 KA 2 33 % &

& T, IEBEF DR 1T 2 B TH %,

EDNE

ARZEGIEL, INCIB T DK « midlE s Lo KERAEDO IR, EIE
IR LK DIEH 7R BERE DMERF M OV HBRBEDHEAf & fra 2 X %
728 BT DN, 7)1 G K ONAr) P22 DOt A2 38413 %
Z LT IEHREGOREZITI bOTH D,

3. THEHB

1) THEH 2) H

3) HOMSy 4) FHEA




G B
ST AN LELEAT) ]« b= D) AR S R 2
T H - LA - FHA - 5 Bl B | & & B A R i
AR FELEGH ]« Aok ) 1) 1A S8 36
S X 1 53,354,050
[ELE A =X 1 46,026,612
(XY =X 1 44,098,552
FEH T e 1 117,760 117,760 |8 145
AT 113K P H 24| 1,747,200 41,932,800 Hi 25
EBITOYE &« 1 1,228,800|/ 14
P - BEE H 24 34,133 819,192|Hi 35
[ERES Y =X 1 1,928,060
ENTIRESEE- ¢ X 1 1,928,060| 25
42 A =X 1 7,327,438
Z DO AT =X 1 7,327,438
— R 2y 1 24,235,950
— R B = 1 24,235,950
FEH % 2y 1 77,590,000
THE FiLFH 4 %0 =X 1 7,759,000
EH G 2y 1 85,349,000




1 kR N R E
¥BT A & 1 B 1,228,800
il %E =
BT (A) 51,200 1,228,800

1,228,800




1 &k B il £

YIRS AL H Kk 1 LR 1,747,200
Bk HLAi7 g A & # o=

Bt B A 39.0 29,000 1,131,000

— AT A 39.0 15,800 616,200

1,747,200




1 &k B i &

ESCEL e
il %E
BT (A) 2.3 51,200 117,760

117,760




1 &k B il £

YIRS AL H Kk 1 LR 1,747,200
Bk HLAi7 g A & # o=

Bt B A 39.0 29,000 1,131,000

— AT A 39.0 15,800 616,200

1,747,200




1 &k B il £

- B HANL Y& B 34,133
=R ivA B L= Al %A C
FEfE - B A 1.0 34,133 34,133|H 4%

34,133




